Chapter 02: Data Exploration
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Value vs. Day
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Value vs. Observation

25
20
15
3
(]
= 10 °
®
5 @
[ ]
[ )
pe [ ]
0
2 4 6 10
Observation
Value vs. Observation, Outliers Removed
10 2
8
6 L
E ®
(]
Z 4 ®
L J
2 L
@
0
2 4 6 10

Observation

[3]




Value and Normalized Value
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Chapter 04: Grouping with Clustering
Algorithms
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Three Clusters with Local Optimum
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Three Clusters in 3D With Centroids
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Unknown Clusters with Solved Centroids
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Chapter 05: Classification Algorithms

Height and Weight, Male vs Female
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Chapter 07: Forecasting with Regression
Algorithms

Linear Growth with Noise
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Linear Growth with Noise and Linear Regression
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Linear Growth with Noise and Linear Regression in JS
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Noisy Exponential Decay
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Noisy Exponential Decay with Regression
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Polynomial Relationship with Regression
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Low and High Frequency Signal Components
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Periodic Data with Moving Average Subtracted
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Chapter 08: Artificial Neural Network
Algorithms

Input Layer Hidden Layer Output Layer
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Step vs Sigmoid Functions
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TensorFlow.js: Train MNIST with the Layers API

Testing..
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Testing...

last accuracy: 90.63%

last loss: 0.47
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Testing...

last accuracy: 96.88%

last loss: 0.23
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Digits:

Training Size:

RNN Type:

RNN Layers:

RNN Hidden Layer Size:
Batch Size:

Train Iterations:

# of test examples:
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69+41 =110
11+57 = 68
67+8 =75
77+80 = 157
41429 =70
29+74 =103
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7+39 = 46
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56+54 = 110
63+17 =80

GRU unit
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